#### 表 58 特約醫事服務機構住院費用申報狀況 一按權屬別分

	中華民國九十二年	耳	位:點,件,日
	權屬別 Ownership	件數 Cases	日數 Inpatient- Days
總計	Grand Total	2,733,966	26,353,757
醫院	Hospitals	2,654,354	26,101,372
公立醫院	Public Hospitals	778,155	9,658,295
行政院衛生署所屬醫院 及市立醫院	Hospitals Subordinate to DOH and Municipal Hospitals	290,035	4,005,629
縣市立醫院	County & City Hospitals	27,718	220,507
公立醫學院校附設醫院	Hospitals Affiliated with Public Medical Schools	83,624	877,383
軍方醫院(民眾診療)	Civilian Clinics of Military Hospitals	148,208	1,425,161
榮民醫院	Veterans Hospitals (VACRS)	226,188	3,063,358
機關(構)附設醫院	Hospitals Affiliated with Enterprises	2,382	66,257
公立中醫醫院	Public Hospitals of Chinese Medicine	-	-
私立醫院	Private Hospitals	1,876,199	16,443,077
財團法人醫院	Non-Profit Proprietary Hospitals	815,277	6,869,723
宗教財團法人附設醫院	Hospitals Affiliated with Non-Profit Proprietary Religious Organizations	95,987	710,712
醫學院校附設醫院	Hospitals Affiliated with Medical Schools	165,800	1,425,066
其他法人附設醫院	Hospitals Affiliated with Other Non-Profit Proprietary Organizations	53,694	746,438
私立醫院	Private Hospitals	745,441	6,691,138
私立牙醫醫院	Private Dental Hospitals	-	-
私立中醫醫院	Private Chinese Medical Hospitals	-	-
診所	Clinics	79,495	252,062
公立診所	Public Clinics	-	-
行政院衛生署所屬診所 及市立診所	Clinics Subordinate to DOH and Municipal Clinics	-	-
縣市立診所	County & City Clinics	-	-
衛生所	Health Stations	-	-
公立學校附設醫務室	Clinics Affiliated with Public Schools	-	_
軍方診所 (民眾診療附設門診部)	Civilian Clinics of Military Clinics	-	-
榮民診所(榮家醫務室)	Veterans Clinics (VACRS)	-	-
機關(構)附設診所	Clinics Affiliated with Enterprises	-	-
公立中醫診所	Public Clinics Practicing Chinese Medicine	-	-

備註:1.本表"點數"欄不含部分負擔。

<sup>2.</sup>資料更新日期為93年5月31日。

Table 58 Inpatient Claims by Contracted Medical Care Institutions—by Ownership

2003 Unit: RVU,Case,Day

	20	103	Unit · R v U, Case, Day
點 數 Expenditures	平均每件點數 Average Cost Per Case	平均每件住院日數 Average Length of Stay	平均每日點數 Average Cost Per Diem
118,497,045,172	43,343	9.64	4,496
116,774,741,450	43,994	9.83	4,474
38,350,728,661	49,284	12.41	3,971
10,969,452,183	37,821	13.81	2,739
949,955,895	34,272	7.96	4,308
6,651,769,829	79,544	10.49	7,581
6,028,485,882	40,676	9.62	4,230
13,578,868,874	60,034	13.54	4,433
172,195,998	72,291	27.82	2,599
-	-	-	-
78,424,012,789	41,799	8.76	4,769
39,072,940,418	47,926	8.43	5,688
3,384,039,027	35,255	7.40	4,761
8,737,831,600	52,701	8.60	6,132
1,949,266,222	36,303	13.90	2,611
25,279,935,522	33,913	8.98	3,778
-	-	-	-
-	-	-	-
1,721,021,922	21,649	3.17	6,828
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-

Notes: 1.The figures of the "Expenditures" column in this table exclude the copayment.

<sup>2.</sup> The data is updated on May 31, 2004.

## 表 58 特約醫事服務機構住院費用申報狀況 一按權屬別分(續完)

中華民國九十二年

	中華民國九十二年	單位:點,件,日		
	權屬別 Ownership	件數 Cases	日數 Inpatient-Days	
私立診所	Private Clinics	79,495	252,062	
財團法人附設醫務室	Clinics Affiliated with Non-Profit Proprietary Organizations	-	-	
宗教財團法人附設診所、醫務室	Clinics Affiliated with Religious Non-Profit Proprietary Organizations	-	-	
私立學校附設醫務室	Clinics Affiliated with Private Schools	-	-	
事業單位附設醫務室	Clinics Affiliated with Enterprises Private Clinics	79,495	252,062	
私立診所 私立牙醫診所	Private Chines Private Dental Clinics	13,433	232,002	
私立中醫診所	Private Clinics Practicing Chinese Medicine	_	-	
	, and the second	-	-	
其他醫療機構	Other	-	-	
財團法人其他醫療機構	Other Non-Profit Proprietary Hosp. & Clinics	-	-	
藥局	Pharmacies	-	-	
護產機構	Nursing Institutions	117	323	
公立護產機構	Public Nursing Institutions	-	-	
財團法人護產機構	Nursing Institutions Affiliated with Non-Profit Proprietary Organizations	-	-	
其他法人附設護產機構	Nursing Institutions Affiliated with Other Non-profit Proprietary Organizations	-	-	
個人開設護產機構	Personal Nursing Institutions	89	254	
公立醫療機構附設護產機構	Nursing Institutions Affiliated with Public Med. Care Institutions	-	-	
私立醫療機構附設護產機構	Nursing Institutions Affiliated with Private Med. Care Institutions	-	-	
財團法人醫療機構附設護產機構	Nursing Institutions Affiliated with Non-Profit Proprietary Med. Care Institutions	28	69	
其他	Other Nursing Institutions	-	-	
其他醫事機構	Other Med. Care Institutions	-	-	
公立精神復健機構	Public Psychiatric Rehabilitation Institutions	-	-	
財團法人精神復健機構	Non-Profit Proprietary Psychiatric Rehabilitation Institutions	-	-	
私立精神復健機構	Private Psychiatric Rehabilitation Institutions	-	-	
公立醫療機構附設精神復健機構	Psychiatric Rehabilitation Institutions Affiliated with Public Medical Care Institutions	-	-	
私立醫療機構附設精神復健機構	Psychiatric Rehabilitation Institutions Affiliated with Private Medcial Care Institutions	-	-	
財團法人醫療機構附設精神復健 機構	Psychiatric Rehabilitation Institutions Affiliated with Non-Profit Proprietary Medical Care Institutions	-	-	

Table 58 Inpatient Claims by Contracted Medical Care Institutions—by Ownership (Cont'd)

2003 Unit: RVU,Case,Day 平均每件點數 平均每日點數 平均每件住院日數 點 數 Average Cost Per Average Cost Per Expenditures Average Length of Stay Case Diem 1,721,021,922 21,649 3.17 6,828 1,721,021,922 21,649 3.17 6,828 1,281,800 10,956 2.76 3,968 981,000 11,022 2.85 3,862 300,800 10,743 4,359 2.46

Table 58 Inpatient Claims by Contracted Medical Care Institutions—by Ownership

2002 Unit: RVU,Case,Day 平均每件住院日數 平均每件點數 平均每日點數 點 數 Average Cost Per Average Length of Average Cost Per Diem Expenditures Case Stay 115,362,851,065 42,196 9.64 4,377 113,786,278,860 42,868 9.83 4,359 38,443,713,221 49,404 12.41 3,980 10,527,532,041 36,297 13.81 2,628 933,384,775 33,674 7.96 4,233 6,800,905,541 81,327 10.49 7,751 6,353,019,630 42,866 9.62 4,458 13,651,182,754 60,353 13.54 4,456 177,688,480 74,596 27.82 2,682 75,342,565,639 40,157 8.76 4,582 39,085,044,765 47,941 8.43 5,689 3,055,571,826 31,833 7.40 4,299 8,449,260,246 50,961 8.60 5,929 1,828,307,442 34,050 13.90 2,449 22,924,381,360 30,753 8.98 3,426 1,575,560,205 19,820 3.17 6,251

Notes: 1. The figures of the "Expenditures" column in this table exclude the copayment.

<sup>2.</sup> The data is updated on May 31, 2003.

Table 58 Inpatient Claims by Contracted Medical Care Institutions—by Ownership (Cont'd)

	20	02	Unit: RVU,Case,Day
點 數 Expenditures	平均每件點數 Average Cost Per Case	平均每件住院日數 Average Length of Stay	平均每日點數 Average Cost Per Diem
1,575,560,205	19,820	3.17	6,251
-	-	-	-
-	-	-	-
-	-	-	-
1,575,560,205	19,820	3.17	6,251
-	-	-	-
-	-	-	-
-	-	-	-
-	-	_	_
4 040 000	0.650	- -	2.422
1,012,000	8,650	2.76	3,133
-	-	-	-
935,000	10,506	2.85	3,681
-	10,300	2.03	5,001
77.000	2.750	2.46	1 116
77,000	2,750	2.46	1,116
-	-	- -	_
_	-	_	_
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
_	_	_	_

## 表 58 特約醫事服務機構住院費用申報狀況 一按權屬別分

中華民國九十二年

	中華民國九十二年		
	權屬別 Ownership	件數 Cases	
總計	Grand Total	2,728,498	2,723,041
醫院	Hospitals	2,654,354	2,649,045
公立醫院	Public Hospitals	778,155	776,599
行政院衛生署所屬醫院 及市立醫院	Hospitals Subordinate to DOH and Municipal Hospitals	290,035	289,455
縣市立醫院	County & City Hospitals	27,718	27,663
公立醫學院校附設醫院	Hospitals Affiliated with Public Medical Schools	83,624	83,457
軍方醫院(民眾診療)	Civilian Clinics of Military Hospitals	148,208	147,912
榮民醫院	Veterans Hospitals (VACRS)	226,188	225,736
機關(構)附設醫院	Hospitals Affiliated with Enterprises	2,382	2,377
公立中醫醫院	Public Hospitals of Chinese Medicine	-	-
私立醫院	Private Hospitals	1,876,199	1,872,447
財團法人醫院	Non-Profit Proprietary Hospitals	815,277	813,646
宗教財團法人附設醫院	Hospitals Affiliated with Non-Profit Proprietary Religious Organizations	95,987	95,795
醫學院校附設醫院	Hospitals Affiliated with Medical Schools	165,800	165,468
其他法人附設醫院	Hospitals Affiliated with Other Non-Profit Proprietary Organizations	53,694	53,587
私立醫院	Private Hospitals	745,441	743,950
私立牙醫醫院	Private Dental Hospitals	-	-
私立中醫醫院	Private Chinese Medical Hospitals	-	-
診所	Clinics	79,495	79,336
公立診所	Public Clinics	-	-
行政院衛生署所屬診所 及市立診所	Clinics Subordinate to DOH and Municipal Clinics	-	-
縣市立診所	County & City Clinics	-	-
衛生所	Health Stations	-	-
公立學校附設醫務室	Clinics Affiliated with Public Schools	-	-
軍方診所 (民眾診療附設門診部)	Civilian Clinics of Military Clinics	-	-
榮民診所(榮家醫務室)	Veterans Clinics (VACRS)	-	-
機關(構)附設診所	Clinics Affiliated with Enterprises	-	-
公立中醫診所	Public Clinics Practicing Chinese Medicine	-	-

備註:1.本表"點數"欄不含部分負擔。

<sup>2.</sup>資料更新日期為93年5月31日。

#### Table 58 Inpati Care Institutio

單位:點,件,日

<b>一位</b> · 加, 11, 日			
日 數 Inpatient- Days		點 數 Expenditures	
26,353,757	26,301,049	118,497,045,172	118,260,051,082
26,101,372	26,049,169	116,774,741,450	116,541,191,967
9,658,295	9,638,978	38,350,728,661	38,274,027,204
4,005,629	3,997,618	10,969,452,183	10,947,513,279
220,507	220,066	949,955,895	948,055,983
877,383	875,628	6,651,769,829	6,638,466,289
1,425,161	1,422,311	6,028,485,882	6,016,428,910
3,063,358	3,057,231	13,578,868,874	13,551,711,136
66,257	66,124	172,195,998	171,851,606
-	-	-	-
16,443,077	16,410,191	78,424,012,789	78,267,164,763
6,869,723	6,855,984	39,072,940,418	38,994,794,537
710,712	709,291	3,384,039,027	3,377,270,949
1,425,066	1,422,216	8,737,831,600	8,720,355,937
746,438	744,945	1,949,266,222	1,945,367,690
6,691,138	6,677,756	25,279,935,522	25,229,375,651
-	-	-	-
-	-	-	-
252,062	251,558	1,721,021,922	1,717,579,878
-		-	
-		-	
-		-	
-		-	
-		-	
-		-	
-		-	
-		-	
-		-	
_			

Notes: 1.The figures of the "Expenditures" column in 2.The data is updated on May 31, 2003.

## lent Claims by Contracted Medical ins—by Ownership

:	RVU	,Case	,Day
	:	: RVU	: RVU,Case

20	003	Unit: RVU,Case,Day
平均每件點數 Average Cost Per Case	平均每件住院日數 Average Length of Stay	平均每日點數 Average Cost Per Diem
43,429	9.66	4,496
43,994	9.83	4,474
49,284	12.41	3,971
37,821	13.81	2,739
34,272	7.96	4,308
79,544	10.49	7,581
40,676	9.62	4,230
60,034	13.54	4,433
72,291	27.82	2,599
-	-	-
41,799	8.76	4,769
47,926	8.43	5,688
35,255	7.40	4,761
52,701	8.60	6,132
36,303	13.90	2,611
33,913	8.98	3,778
-	-	-
-	-	-
21,649	3.17	6,828
-	-	-
-	-	-
-	-	-
-	-	-
-	-	-
-	-	-
-	-	-
-	-	-
-	-	-

#### 單1

# 表 58 特約醫事服務機構住院費用 : 一按權屬別分(續完)

中華	民國	九一	上二年	E
----	----	----	-----	---

	權屬別 Ownership	件數 Cases
—————————————————————————————————————	Private Clinics	79,495
財團法人附設醫務室	Clinics Affiliated with Non-Profit Proprietary Organizations	-
宗教財團法人附設診所、醫務室	Clinics Affiliated with Religious Non-Profit Proprietary Organizations	-
私立學校附設醫務室	Clinics Affiliated with Private Schools	-
事業單位附設醫務室	Clinics Affiliated with Enterprises	-
私立診所	Private Clinics	79,495
私立牙醫診所	Private Dental Clinics	-
私立中醫診所	Private Clinics Practicing Chinese Medicine	-
其他醫療機構	Other	-
財團法人其他醫療機構	Other Non-Profit Proprietary Hosp. & Clinics	-
藥局	Pharmacies	-
護產機構	Nursing Institutions	117
公立護產機構	Public Nursing Institutions	-
財團法人護產機構	Nursing Institutions Affiliated with Non-Profit Proprietary Organizations	-
其他法人附設護產機構	Nursing Institutions Affiliated with Other Non-profit Proprietary Organizations	-
個人開設護產機構	Personal Nursing Institutions	89
公立醫療機構附設護產機構	Nursing Institutions Affiliated with Public Med. Care Institutions	-
私立醫療機構附設護產機構	Nursing Institutions Affiliated with Private Med. Care Institutions	-
財團法人醫療機構附設護產機構	Nursing Institutions Affiliated with Non-Profit Proprietary Med. Care Institutions	28
其他	Other Nursing Institutions	-
其他醫事機構	Other Med. Care Institutions	-
公立精神復健機構	Public Psychiatric Rehabilitation Institutions	-
財團法人精神復健機構	Non-Profit Proprietary Psychiatric Rehabilitation Institutions	-
私立精神復健機構	Private Psychiatric Rehabilitation Institutions	-
公立醫療機構附設精神復健機構	Psychiatric Rehabilitation Institutions Affiliated with Public Medical Care Institutions	-
私立醫療機構附設精神復健機構	Psychiatric Rehabilitation Institutions Affiliated with Private Medcial Care Institutions	-
財團法人醫療機構附設精神復健 機構	Psychiatric Rehabilitation Institutions Affiliated with Non-Profit Proprietary Medical Care Institutions	-

單位:點,件,日

	點 數 Expenditures		日數 Inpatient- Days	
1,717,579,878	1,721,021,922	251,558	252,062	79,336
	-	-	-	-
	-	-	-	-
	-	-	-	-
1,717,579,878	1,721,021,922	- 251,558	252,062	79,336
, , ,	-	-	-	-
	-	-	-	-
	-	-	-	-
	-	-	-	-
	-	-	-	-
1,279,236	1,281,800	322	323	117
	-	-	-	-
	-	-	-	-
	-	-	-	-
979,038	981,000	253	254	89
	-	-	-	-
	-	-	-	-
300,198	300,800	69	69	28
	-		-	
	-		-	
	-		-	
	-		-	
	-		-	
	-		-	
	-		-	
	-		_	

# lent Claims by Contracted Medical ins—by Ownership (Cont'd)

RVU,Case,Day

	Olit · R v O, Case, Day	
平均每件點數 Average Cost Per Case	平均每件住院日數 Average Length of Stay	平均每日點數 Average Cost Per Diem
19,446	3.14	6,185
-	-	-
-	-	-
-	-	-
- 19,446	3.14	6,185
-	5.17	-
-	-	-
-	-	-
-	-	-
-	-	-
11,000	2.46	4,478
-	-	-
-	-	-
-	-	-
11,000	2.56	4,289
-	-	-
-	-	-
11,000	1.14	9,625
-	-	-
-	-	-
-	-	-
-	-	-
-	-	-
-	-	-
-	-	-
-	-	-